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Question #265 
Key: A 
 
The simulated paid loss is 1exp[0.494 ( ) 13.294]u�� �  where 1( )u��  is the inverse of the 
standard normal distribution function.  The four simulated paid losses are 450,161, 
330,041, 939,798, and 688,451 for an average of 602,113.  The multiplier for unpaid 
losses is 0.851 0.747(2006 2005)0.801(2006 2005) 0.3795e� �� �  and the answer is 0.3795(602,113) 
= 228,502 
 
 
Question #266 
Key: A 
 
The deduction to get the SBC is ( / 2) ln( ) ( / 2) ln(260) 2.78r n r r� �  where r is the number 
of parameters.  The SBC values are then -416.78, -417.56, -419.34, -420.12, and -
425.68.  The largest value is the first one, so model I is to be selected. 
 
 
Question #267 
Key: E 
 

� � 1
1

1 1
1

1 3

Pr( | 1) Pr( 1)Pr 1|
Pr( | 1) Pr( 1) Pr( | 3) Pr( 3)

(0.75) 0.2759! .
3 0.2759 0.1245(3 )(0.75) (0.25)

! !

r r

X rX r
X r X r

e
r

e e
r r

� ��
� � � �

�

� �

� � �
� � �

� � � � � � �

� �
��

 

Then, 
0.2759 0.1245(3 )2.98 (1) (3)
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Rearrange to obtain 
0.82218 0.037103(3 ) 0.2759 0.03735(3 )
0.54628 0.00025(3 )
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Because the risks are Poisson, (� = EPV, a = VHM): 
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and the estimate is (1/3)(7) + (2/3)(1.5) = 3.33. 


